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Questions 1 to 10 corry 2 morks eoch.
For eoch question, four options ore given. One of them is the conect onswer.
shode the conect ovol {1,2,3 or 4} on the opticol Answer Sheet. (20 morks)

The volue

(1) 40

l2l 400

(3) 4000

digit 4 in 34 615 is 

-
(4) 40 000

2, 48 is nol o multiple of _
(l) 6

l2l 8

(s) 12

(4) 14 (

3. Whot froction of the shopes in the box qreA z
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4 The digit 6in9.263 stonds for 5

{ll ones

12) tens

(3) tenths

(4) hundredths

5 Which of the following is nol on equivolent froction of 1 Z
I

(t)

(3)
5

(4)

The figure shown is mode up of o squore A of side 3 cm ond o

rectongle B with breodlh 4 cm. Whot is the length of the rectongle?

?
8

3

t2

l6

(2)

6

24

6
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t2l
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(4)

7cm

8cm
'I lcm
12 cm

8cm

3cm 4cm

(
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B
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7. ln the figure, which of the morked ongles is smoller lhon o right ongte?

(r)

t2l
(3)

(4t

Zo
Zb
Zc
Zd

8. The figure is mode of o triongle ond o rectongle.

The perimeter of the whole figure is --- cm.

-..Line,t/
of symme'try

9cm

cm
(l)

(2)

(3)

(41

22

37

39

44

2cm

5cm

9. Muthu hos eighteen SO-cent coins ond 2O-cent coins. He hos o totol of

$6.90. How mony 20-cent coins does Muthu hove?

(l)
(2)

(3)

(41

5

7
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10. Mrs Seng bought o 2-kg bog of sugor. She used 50 g of the

sugor eoch doy. How mony doys did the bog of sugor lost?

(t)

(2t

(3)

(4t

25

40

52

100

Poperl (BookletBl

Shorl Answer Queslions

Eoch question corries 2 morks. Write your onswers in the boxes provided.

For questions which require units, give your onswers in the units sioted.

(40 morks)

ll. Write the missing number [n the number pottern below.

15 000 , 14200 , l3 400 , 12 600, , ll 000

12. Two foctors of I 4 ore I ond .l4. 
Whot ore the olher two foctors

of 14?

ond _

r3. Write Sl os on improper froction.
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14.

17.

15. Write the decimolrepresented by A.

0.8 0.9

'16. Express # "r 
o decimol.

Arronge the following numbers in order from the greotest to ihe

smollest.

0.06? 0.906 0.609 0.960

Findthevolueof3-1- 1.
48

1

A

(greotest)
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'18. Round 209.55 to the neorest whole number

19. ln the figure, one of the lines is porollel to AF. Which line is porollelto AF?

B

C

20. The product of two numbers is 50.4.

lf one number is 8, whot is the other number?

21. Whot is the nome of the geometric figure?

A

F

E

D
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22 The figure is mqde up of o rectongle qnd o squore.

Find the sum of Z o ond Z b.

23. Find Z p in the figure below.

120"

I ]00

p

o

o

24. Ahmod hos swimming lesson from 4.15 p.m.to 5.45 p.m. doily.
How mony hours of swimming lessons does he hove in o week?

b
a

h
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25 Meiling stqrFed her SociolStudies project of 18 50. She spent

75 minutes doing it. She olso took o breok of 1f,. At whot time
2

did she finish her SociolStudies project? Leove your onswer

in 24-hour clock.

26 At first, Alon hod $25 more thon Benny. Then Alon donoted 930 ond

Benny donoted $2 to o chority. Who hod more money left ?

27. A rectongulor couriyord hos on oreo of .I08 
m2. The breodth of the

courtyord is 9 m. A fence is to be ploced oround the courtyord.

How mony metres of fence ore needed?

m
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Use the bor groph below to onswer questions 28lo 29.

The line groph shows the distonce jogged by Fondi from 5,00 o.m. to
I2 noon. Study it corefully ond onsWer the following questions.

/

/
/

/
/

/
7

/
/

Time

28. At whol time did Fondiiog q distonce of l4 km?

o.m

km

Dislonce
(Km)

32

28

24

20

I5

t2

8

4

0

6 o.m. 7 o.m. 8 o.m.9 o.m. l0 o.m.ll o.m. l2 noon

29. Whot wos the distonce jogged by Fondi from l0 o.m. lo l2 noon?
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30, The dotted line in the figure below represents the line of symmetry.
Drow the other holf of the figure.
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Nome: t Closs:Pr4( )

Questions I to 10 corTy 4 rnorks eoch. Show your working cleorly in the spoce provided
for eoch question ond write your onswers in the spoces provided. For questions which
require units, give your onswers in the units sloted. (40 morlcs)

A pen cost $2.50 ond o file cost twice os much os o pen. Mr Lim bought
4 pens ond 20 files. Find lhe totolomount of money spent by Mr Lim.

Mr Lim spent Ans:

2. A hondbog ond 2 similor wollets cost $350. The hondbog cost $200 more thon
o wollet. Find the cost of the hondbog.

The hondbog cost Ans:

I

I



J. Mother boked 480 cookies. She gove I of them to chority ond pocked the rest

equolly into 4 bottles.

o) How mony cookies did she give lo chority?

b) How mony cookies were there in eoch bottle?

There were cookies in eoch botlle.

Ans:b)

)

She gove _ cookies to chorily. Ans: o)



oxi
LI

T

MRT

4. The pie chort shows how some students went lo school on o certoin doy

o) Whot froction of the students went 1o school by MRT?

Ans: o)

b) 320 students went to school by toxi. How mony students went to school by

MRT ond bus?

students went lo schoolby MRI. Ans: b)

Bus

J



:

5. Kelly hos $348 more thon Sondy. How much money must Kelly give to Sondy so
thot Sondy will hove $50 more fhon her?

Kelly musi give Sondy Ans:

An ortist used 1380 pink, blue ond green beods for her ort work. She used

240 more pink beods thon green beods. She used the sqme number of blue

beods os pink beods. How mony green beods did she use?

She used green beods. Ans

6,

4



7. A box with 10 pockets of biscuits weighed 4.9 kg. The moss of 2 pockets of
biscuits wos 0.9 kg. Whot wos the moss of the box when it wos empty?
(Give your onswer in kilogroms)

The moss of lhe box wos when it wos empty. Ans:

5



8. Yifeng hod o piece of coloured poper meosuring I5 cm by l2 cm.

He cut out o squore of side 6 cm ond 2 squores of side 3 cm.

l6 crn

I
I
F
I
I
I
I
I
I
I
I
I

cm

o) Whot is the perimeter of the remoining poper?

The perimeter of the remoining poper is

b) Whot is the oreo of the remoining poper?

The oreo of the remoining poper is

Ans: o)

Ans: b)

6
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I Booling bought some cheese torts. lf she gives 8 cheese torts to eoch cousin,

she would hove 6 cheese torts remoining. lf she gives 9 cheese tqrls to eoch
cousin, she would hove I cheese tort remoining.

How mony cousins did Booling hove?

Booling hod cousins. Ans:

ts

't



10. Study the pottern shown below.

I
IP?!P

9? ???
Pottern 2 Pottern 3

ee9??9????
Pqllern 4Pqtlern I

Pottern Number Number of Heorts

I I

2 3

3 6

7 ?

o) How mony heqrls ( @ ) ore lhere in Pottern 7? (2 morks)

Ans: o)

b) Which Pottern will hove 66 heorts l? tZ (2 morks)

Ans: b)

End of Poper 2
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Q23 40"

Q24 10.5h

Q25 2035

Q26 Benny

Q27 42m

Q28 8.30a.m.

Q29 1 Okm
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PAPER 2

Q1 $2.50x2=$5
$5x20=$1oo
$Z.SO*4=$10
$toO+$10=$110

Q2 $350-$zoo=$150
$1So+3=$50
$200+$50=$250

a3(a) 480+5=96
96x3=288cookies

o3(b) 480-288=192
192+ 4= 48 cookies



aa(a) 21 3

48B

04(b) 320x3=960
320x2=640
960 + 640 = 1600 students

Q5 $348-$SO=$298
$298 * 2= $t+S
$149+$50=$199

Q6 240x2=480
1380-480=900
900+3=300greenbeads

Q7 0.9x5=4.5
4.9-4.5=0.4k9

a8(a) 13+12=25
25+25=50
50+3*3=56cm

o8(b) 16x12=192
6x6=36
9 x 2 = 18
36+18=54
1g2-54=138cm?

Q9 lf 6 cousins:
8x6=48
48+6=54
9x6=54
54+1=55
lf 5 cousins:
8x5=40
40+6=46
9x5=45
45+1=46
Baoling had 5 cousins.

410(a) 21 +7=28hearts

o1o(b) Pattern 11


